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> F

0.

i
i

=25-20-15-10 -5

5 10 15 20 25
TP dxy(PV) (cm)

0

—=— DQM_mkFit_TToriginal

—e— DQM_mkFit_TT_JanUpdate-noErr
—— DQM_mkFit_TT_JanUpdate-statErr
—— DQM_mkFit_TT_JanUpdate-systErr

2040608 1
TP dxy(PV) (cm)
Efficiency vs Dz(PV)
s Ly :
o [ .
g f :
Ol CEETRE TR L P el
> I .
2 N .
Q u .
© 0.8 et
2 [ .
E= [ .
9] 3 .
(S hEERl ERAREEE AR v
04:_ ............ [a— R E ...... LI
0.2:— ----------- FEERY | AR DEPRRS RN
I i i i i
oW . . '
T . . i
24 . . !
b1 SREEE e FEREL ¢ EEEEEREEE SR EEEEE
o =30 -20 -10 0 10 20 30

Efficiency vs Dz(PV)

TP dz(PV) (cm)

S 0.5

Z|
o
>

efficiency vs dz(P




	Contents
	Page 1


